Ms. Stanford

7th Grade Science

1st Nine Weeks Study Guide

*************Exam will be given on Thursday Oct 2, 2014*****************

GLE’s covered on Exam (See class notes)

GLE 0707.Inq.1 Design and conduct open-ended scientific investigations. 

GLE 0707.Inq.2 Use appropriate tools and techniques to gather, organize, analyze, and interpret data.  
GLE 0707.Inq.5 Communicate scientific understanding using descriptions, explanations, and models.
GLE 0707.T/E.1 Explore how technology responds to social, political, and economic needs. 

GLE 0707.T/E.2 Know that the engineering design process involves an ongoing series of events that incorporate design constraints, model building, testing, evaluating, modifying, and retesting. 

GLE 0707.T/E.3 Compare the intended benefits with the unintended consequences of a new  technology

GLE 0707.T/E.4 Describe and explain adaptive and assistive bioengineered products. 

GLE 0707.11.1 Identify six types of simple machines. 

GLE 0707.11.2 Apply the equation for work in experiments with simple machines to determine the amount of force needed to do work. 

GLE 0707.11.3 Distinguish between speed and velocity. 

GLE 0707.11.4 Investigate how Newton’s laws of motion explain an object’s movement. 

· Exam will consist of at least 40 multiple choice questions similar to practice questions attached and at least 3 open ended response questions.
· Please use study island for additional practice with these topics
· Also you should be familiar with all vocabulary terms that were copied from board during class.
 Website: Studyisland.com

Username: firstname.lastname.kbms

Password: student
1st Nine Weeks Exam Review Questions
	Question 1 of 20

	As the wheels of a train push down on a track, the track pushes back against the wheels. Which of Newton’s laws is used to explain these forces?


	 
	 
	 
	 
	 

	[image: image1.wmf]  
	A.
	An object at rest tends to stay at rest unless acted upon by an unbalanced force.

	[image: image2.wmf]  
	B.
	The net force of an object is equal to its mass times its acceleration.

	[image: image3.wmf]  
	C.
	For every action, there is an equal and opposite reaction

	[image: image4.wmf]  
	D.
	Any two objects exert a gravitational force of attraction on each other.

	Question 2 of 20

	Students were studying how temperature affects water movement. The students added drops of
food coloring to different temperatures of water. They measured the rates at which the food
coloring spread throughout the water. Which tools would best help the students complete their
investigation?

	 
	 
	 
	 
	 

	[image: image5.wmf]  
	A.
	beaker, thermometer, stopwatch

	[image: image6.wmf]  
	B.
	meter stick, thermometer, beaker

	[image: image7.wmf]  
	C.
	spring scale, thermometer, stopwatch

	[image: image8.wmf]  
	D.
	graduated cylinder, thermometer, balance

	Question 3 of 20

	A screw is an example of a simple machine that would be most useful for
 

	 
	 
	 
	 
	 

	[image: image9.wmf]  
	A.
	cutting a sandwich

	[image: image10.wmf]  
	B.
	hammering a nail.

	[image: image11.wmf]  
	C.
	opening a corked bottle.

	[image: image12.wmf]  
	D.
	lifting a rock.

	Question 4 of 20

	A logger splits a piece of wood.What simple machine splits the wood?
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	A.
	screw

	[image: image14.wmf]  
	B.
	wedge

	[image: image15.wmf]  
	C.
	wheel and axle

	[image: image16.wmf]  
	D.
	inclined plane

	Question 5 of 20

	Jenny conducts an experiment to find the time period of a Second's pendulum and obtains the following data.
[image: image17.png]Reading | Length of the pendulum | Time period
number | (in centimeters) (in seconds)
1 1001 21
B 700 20
3 700 20
T 700 20
5 99.99 19






	 

	She has read in a book that the length of a Second's pendulum is 100 centimeters and the time period of 2 seconds. She must ____________. 

	 
	 
	 
	 
	 

	[image: image18.wmf]  
	A.
	report all the readings 

	[image: image19.wmf]  
	B.
	manipulate the readings 

	[image: image20.wmf]  
	C.
	not report readings 1 and 5 

	[image: image21.wmf]  
	D.
	change the pendulum used 


	Question 6 of 20

	A research team developed a device that makes it easier for a person in a a wheelchair to get into and out of a vehicle. 

	 

	What should the team do before they ask people with disabilities to participate in tests that measure the effectiveness of the device? 

	 
	 
	 
	 
	 

	[image: image22.wmf]  
	A.
	They should find out how much it will cost to mass produce the device.

	[image: image23.wmf]  
	B.
	They should make a detailed drawing of the device that includes exact measurements.

	[image: image24.wmf]  
	C.
	They should make sure the device works well with all types of vehicles and wheelchairs.

	[image: image25.wmf]  
	D.
	They should find out if the device would help people with disabilities to travel more safely.

	 


	Question 7 of 20

	Shelby developed a tool that measures the amount of dissolved oxygen in an aquatic ecosystem and displays it on a digital screen. 

How can she test the accuracy of the tool?

	 
	 
	 
	 
	 

	[image: image26.wmf]  
	A.
	Use a thermometer to measure the temperature of a water sample, then measure its oxygen with the tool.

	[image: image27.wmf]  
	B.
	Measure the oxygen in a water sample using the tool and another reliable oxygen test, and compare the results.

	[image: image28.wmf]  
	C.
	Find out how oxygen is dissolved, then dissolve as much as possible in a water sample before measuring it with the tool.

	[image: image29.wmf]  
	D.
	Weigh a water sample and measure its volume, then calculate its density after subtracting the mass of the oxygen measured by the tool.

	 



	Question 8 of 20

	A research team developed a device that makes it easier for a person in a a wheelchair to get into and out of a vehicle. 

	 

	Which of these best describes the research team's device?

	 
	 
	 
	 
	 

	[image: image30.wmf]  
	A.
	assistive, because it was an expensive device to develop

	[image: image31.wmf]  
	B.
	assistive, because it gives disabled people greater mobility

	[image: image32.wmf]  
	C.
	adaptive, because it connects two different machines

	[image: image33.wmf]  
	D.
	adaptive, because it is made of natural and artificial materials

	Question 9 of 20

	A person performed 400 J of work to move an object up a ramp that is 25 meters long. How much force was needed to move the object?  

	 
	 
	 
	 
	 

	[image: image34.wmf]  
	A.
	16 N

	[image: image35.wmf]  
	B.
	25 N

	[image: image36.wmf]  
	C.
	400 N

	[image: image37.wmf]  
	D.
	10,000 N

	Question 10 of 20

	Use the equation below to solve the problem.Force (F) = Work (w) ÷ Distance (d)
How much force was applied to a box that required 45 joules of work to push it up a
3-meter-long ramp?

 

	 
	 
	 
	 
	 

	[image: image38.wmf]  
	A.
	15 N

	[image: image39.wmf]  
	B.
	42 N

	[image: image40.wmf]  
	C.
	48 N

	[image: image41.wmf]  
	D.
	135 N

	Question 11 of 20

	 The equation below shows how to calculate work done by an applied force. W equals the work done in joules (J), F equals the applied force in newtons (N), and d equals the distance in meters (m) over which the force is applied.

W = F × d

This equation can be arranged to calculate the applied force instead:
F = W ÷ d

A scientist was performing some experiments to test the designs of some simple machines. One of her experiments involved a pulley. During the experiment, a total of 2,000 J of work was done to lift a crate 5 m straight up off the floor. Determine the force needed to lift the crate. 

	 
	 
	 
	 
	 

	[image: image42.wmf]  
	A.
	10,000 N

	[image: image43.wmf]  
	B.
	1,995 N

	[image: image44.wmf]  
	C.
	400N

	[image: image45.wmf]  
	D.
	2,005 N

	 


	Question 12 of 20

	Alicia boarded a small boat. Based on Newton's third law, which statement best describes the motion of the boat? 

	 
	 
	 
	 
	 

	[image: image46.wmf]  
	A.
	The velocity of the boat remained the same as Alicia boarded onto the boat. 

	[image: image47.wmf]  
	B.
	When Alicia boarded onto the boat, the boat moved toward the shore. 

	[image: image48.wmf]  
	C.
	When Alicia boarded onto the boat, the boat moved away from the shore. 

	[image: image49.wmf]  
	D.
	The inertia of the boat remained the same as Alicia boarded onto the boat. 

	 



	Question 13 of 20

	A player pitches a baseball at a speed of 90 mph. Which of these would cause the baseball to accelerate faster with the same throwing force? 

	 
	 
	 
	 
	 

	[image: image50.wmf]  
	A.
	The baseball has less mass. 

	[image: image51.wmf]  
	B.
	The baseball travels farther. 

	[image: image52.wmf]  
	C.
	The baseball is thrown at a higher target. 

	[image: image53.wmf]  
	D.
	The baseball drifts in a crosswind. 

	 


	Question 14 of 20

	Speed tells how fast an object travels. Velocity is the speed of the object and___________.

	 
	 
	 
	 
	 

	[image: image54.wmf]  
	A.
	the amount of time the object has been moving

	[image: image55.wmf]  
	B.
	the direction the object is moving

	[image: image56.wmf]  
	C.
	how far the object has traveled

	[image: image57.wmf]  
	D.
	the starting point of the object

	 


	Question 15 of 20

	A car moves with an average speed of 60 kilometers per hour. 
What is the time taken by the car to cover 240 kilometers?
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	A.
	2 hours

	[image: image59.wmf]  
	B.
	3 hours

	[image: image60.wmf]  
	C.
	4 hours

	[image: image61.wmf]  
	D.
	5 hours

	 


	Question 16 of 20

	A ball traveled 35 meters at a speed of 5 meters per second. T= D/S
How long did it take the ball to travel the 35 meters?
 

	 
	 
	 
	 
	 

	[image: image62.wmf]  
	A.
	7 seconds

	[image: image63.wmf]  
	B.
	30 seconds

	[image: image64.wmf]  
	C.
	40 seconds

	[image: image65.wmf]  
	D.
	175 seconds

	 


	Question 17 of 20

	An astronaut is standing on the deck of a spacecraft which is orbiting Earth. He throws a moon rock sample toward outer space where there is no friction. 

How much force is needed to keep the rock moving? 
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	A.
	double the original force

	[image: image67.wmf]  
	B.
	the same as the original force

	[image: image68.wmf]  
	C.
	one-half the original force
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	D.
	there is no force needed

	Question 18 of 20

	When Amelia is swimming, which way does she have to push with her hands to move forward?
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	A.
	to the right
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	B.
	to the left

	[image: image72.wmf]  
	C.
	forward

	[image: image73.wmf]  
	D.
	backward

	 


	Question 19 of 20

	An object is resting motionless on a surface. According to Newton’s first law, the object will only
start to move if

 

	 
	 
	 
	 
	 

	[image: image74.wmf]  
	A.
	the net forces on the object equal zero

	[image: image75.wmf]  
	B.
	an unbalanced force is applied to the object.

	[image: image76.wmf]  
	C.
	the upward force of the object is equal to its acceleration.

	[image: image77.wmf]  
	D.
	two forces that are equal and opposite are applied to the object.

	 


	Question 20 of 20

	In an experiment, what is the group of factors that are fixed or constant, so as not to affect the outcome called?
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	A.
	experiment

	[image: image79.wmf]  
	B.
	sample

	[image: image80.wmf]  
	C.
	constant

	[image: image81.wmf]  
	D.
	control
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